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SECTION-1
CHILD DEVELOPMENT & PEDAGOGY

1. wﬁwﬁwﬁuﬁm%mmﬁmma@mﬁa&mwﬁm'
¥ ¥ fre f feffi feg o9

(@) 180 fe= (by 220 f&=
() 200 fe= ' (@ 230 fg=

How many working days are compulsory for Primary teachers in the school under RTE Act in one

Academic year?

(a) 180 days (b) 220 days
(¢) 200 days {d) 230 days
2. 9 ¥ T w9 q feay wmEm 2

@ 3 ® 4

() 5 d 6

How many types of skills are.used in language?

(@) 3 (b)y. 4

(¢} 5 d) ¢

3. amﬁmafwaﬂ:ﬁmﬁﬁmﬁmmﬁmaiwmﬁmﬂm?
(a) 85aT (by 8977
(c) 93ar (d) 88aT

Under which Constitutional amendment the RTE act was implemented?

(@) 85th (b) 89th
() 93rd , (d) 88h

4 R A WA w wEwer & & FI?
(@) 1880 « () 1879
(c) 1889 o d 1859 F
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Bunet established Psychological laboratory in

(2) 1880 (b) 1879
(c) 1889 (d) 18359
5. el TR & ereTs W e ﬁwﬁmﬁmmﬁmmmﬂ
o % fo vt €2
v
C (2) 20 (b) 28

{c) 22 (dy 25

Under which section and subsection of RTE Act are the government school teachers banned for

private tuition?
(ay 20 (by 28
© 22 d) 25

6. tHINATH w1 e ®
(a) @amﬁzmqq@wamﬁﬁumammé
(b) TEarEHE H(E TIHIH T gt FrE WAR
() TEATEEe W UHVA WHE € I Ture
- (d)@arqﬁémmﬁmwaﬁmm
ADEPTS means

.(2) Advancement of Educational Performance Through Teacher Supports

(b) Advancement of Education Programme Through Teacher Support
(¢) Advancement of Education Process Through Teacher Support
(d) Advancement of Education Power Through Teacher Support

7. e B 0= -2 L B L
@ 80 € 90 by 110 ¥ 120
() 50 ® 60 () 150 o 180
IQ level of extraordinary students lies between
(a) 80-90 (b) 110-120
(c) 50-60 (d) 150-180
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8. Wwam—wmmmwmlzwmam?

(@) BS HEA fareqor  WERTOT (b) ur=al oy Toegor we
() ey v e wa &7 () TG R e T am
According to ..o teacher-taught ratio at primary level should be 1 :39.

(a) Sixth educational survey of India ” {b) Fifth educa.tional survey of India
(¢) Fourth educational survey of India (d) Second educational survey of India

9. mwﬁumﬁmﬁmﬁémwﬁﬁﬁwmﬁwﬁwm
whi?

(a) TRITST (by M

() uHe i W (@ foxg

Who developed the interaction analysis category sytem in education for increasing the teacher
effectiveness?

(a) Flander ! (b) Rayon

(c) Amidon and Simon (d) Richard Over

10. aﬁmﬁmgwﬁméﬁar&ﬁamfmﬁaﬁmeﬁmm(%ﬂ
mwmm%,mm%?

(@ T ® TE T (by H wF N T
(c)uﬁaﬁamqwawﬁm | (d)uﬁgrs?m”wammﬁw

The current movement of behaviour modification wherein tokens are awarded for correct responses,
is a reflection of

(a) Herbert’s five steps (by Lock’s Tabula Rasa

(c) Thorndike’s Law of Effect * (d) Thorndike’s Law of Exercise

11.ﬁwﬁa§qﬁaﬁaﬁxwwwm%?
(a)qmwﬁ'zﬁaﬁwﬁ by foem & q9 TH
(c) HUHTE HETD d) sofafea § | |l
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The reason of absence and escape from school is
(a) Lack of interest in syllabus (b) Poor method of teaching
(c) Ineffective teacher {(d) All of the above 4

.wﬁmﬁwwﬁﬁmwmn@ﬁm%,ﬁﬁ—gwwmm

ﬁmw%wﬁmmw%wamﬁwm%?'

(@) W TS GHET AN HI S9N 9HH oqaER o e
(b)aﬁ'mﬁmﬁéwwﬁa@mmm
(C)Wmmmﬁm&nafwwmmmm‘ﬁ
(@Wwaﬁwmﬁ'mﬁwwmwﬁﬁ

I heredity is important determinant of a specific behaviour, what prediction can we make about
expression of the behaviour in identical twins reared apart compared 1o its expression in fraternal

twins reared apart?

(a) Fraternal twins will express the behaviour more similarly than identical twins

(b) There will be little similarity in the expression of the behaviour in either set of twins
(c) ldentical twins will express the behaviour more similarly than fraternal twins =~

{d) The behaviour will be expressed as similarly by identical twins as it by fraternal twins

13. Hﬁ@a@m%wﬁﬁﬁuﬁmwwwﬁw R
(a) FeITafEe (b) SRR IEd sua =rEEn TEEE
(c) TUS () wafdashiar aragry
A successful alternative 1o drug weatment for hyperactivity is
(@) Psychotherapy (b)  Behaviour modification or behaviour manzgement
(¢) Punishment {d) Progressive inhibition
14. 9AER & ATER, AHE § 9w e el 5 o 2|
(a) WealHTor ygfy (b) TR HEH T
(©) HEm # wgfy () foF @ wgfa
According to Chomsky, humans havea .. to develop language.
(a) Perceptual set ' (b) Telegraphic readiness
(c) Learning set (d) Biological predisposition
Booklet Series—-B (6)




153hm%7&wﬁaﬁamWEﬁﬁm;mﬁgwwawﬁ%
@) T, W, ok o Wy w1 e W we

16.

17.

(b) WHR Tl st frufmt &

TR F gofE w7 ¥ g

© o ferv & gyem w1 fawm w
@) e iR wfwfem wommst 2 wn @ g

During the formal operations stage, children

begin to

(@) Accurately use concepts of time, space and number

(b) Think primarily about concrete objects or situations

() Develop the concept of object permanency

(d) Think in terms of abstract principles and hypothetical possibilities

mm%%WWWiwamﬁ%umT%m%Wﬂﬁ?Wﬁﬁmgﬁmmzimsﬁgﬁg

TOf/AReR ¥ day i §1 ey

m)m#amwﬁmfmﬂﬁﬁéiﬁzwﬁ

A child has been admitted to your school who belengs to a backward family/background from the

cultural viewpoint. You will

(@) keep him in a class in which, there are many more students of backward background from

the cultural viewpoint

(b) send a teacher to know more about the backward cultural background of the child

(¢) keep him in a normal class but will ma
" special needs in view

ke special arrangements for teaching him, keeping his .-

(d) advise him to take up vocational education

TE FE F 46 3ﬁ%ﬁﬂﬁ?$@ﬁ$wmmfﬁﬁmsmmﬂﬁé§ﬁ

HA-faa ST we= Wy 2y @
@ S
© FEAs
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I8.

19.

20.

21

Each cell possesses 46 .. that are responsible for aj] genetic information passed from parents
to children.

(@) Genes () Chromosomes

(¢} Zygotes (d)  Gametes

''''''' ?mmmﬁmﬁmﬁ@ﬁﬁrﬁqﬁmﬁagﬁmww
FE B

(@) 9 wieiy (b) T Freor
©) WF ufiggy (d) Trmve wee

According to e W face a specific psychological dilemma at each stage of Hife.
(a) James Coleman (b} Lawrence KoJ_l_lbcrg
{¢)  Eric Ereckson (d)  Sigmund Freud

Wﬂfﬂﬁm@ﬁmﬂﬁ%ﬁqﬁaﬁaﬂﬂﬂw T wEem 3
(@) TSR F AIE syeqas (b) T T yemy
(© fokraress geifags (d) "M m=Tfagme

The study of change in behaviour from conception to death encom nasses
() Gerontology (b) Thanatology
(¢) Developmental psychology (d)  Social psychology

ﬁaaaﬁumﬁaaﬁmﬁm%ﬁaaaﬁma@%ﬁﬁ""ﬁ?ﬁmww
F W wEw g

(a) 9 (by TErF )
() TR =g (d) AR % Fvaq

Pavlov’s initial interest in clussical condiioning was stimulated, when he obser, vd s resezarch dogs
salivating at the sight of

‘a) Food (b)  The attendanis

(c) Saliva (d}  The food dish
WﬁW—WWWW%%WWW~; = safaeRn
T ® R wm

(a) I a=g

(b) FTEF o<t forerrt & vy o

(c) #ﬁ@%aﬁaﬁtﬂﬁmﬁsﬁm&mﬁ#mﬁ

Ne

(d) ~mmwﬁmﬁaﬁﬁw&m“%wn
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VA potsky s secioenltural theary suzacsts that u childs MRS IRPortant discuverices e plided v
fad ol childre;

(h adults acting ws 1rors

el neather vl ehildren nor aduits acting as 1rors,

Pl e ather children and aduli- LI s Liars

S e A e T SRET F UE Ser zoeew o SR € o fip WEH T

Wl ATEG AT ey s A by UHTE wEmT qhaey
i AATF ST g Wy A
COTEm e vinnt us g deseripiion ul hwm COLILION i wlben associied wilh vducationul ipprowehes
T Pt

el Avtive leamning | o feaening by donsy gy Chservabie hehuvio e chinge
e Tnternal nugiiil processes i Condizgin

1
=

(]
a

G T I S N ko ol e o PR g BEUTEE B I o e Y
EERER L T I Lo e I oo
i ﬁﬁﬁﬁ fer e il e

() FEMTE WS,

(ly =z

WO AT s sy eelassronm behasioyr g g o ¢
! i

he teancker und cier Stdents o o
Py iention 1o the behsvioor i called

2 duos diserinination thl o Txtimetion

(Ch Stmulus senerallisution (e Punislimen

“ -

40 TEd w3 Prgfe fawm fomps

ihy TZYy
(4 =-T=T5R i Eee
Who pronomded e oy ol Il wed cerg
iy Jtngy ‘b Adam
izl Themdike iy Woodwartly
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25.

27.

TUATA. & 514 7 .

(a) T afHir wfgs (b) Uaea @+ dugiest
(¢) Uidea wffn oz (d) = « =

ALM stands for

(a) Active learning material (b) Active learning methodology
(c) Activelearning measurement (d) None of these

.ﬁmﬁﬁﬁgﬁqﬁwwﬁmwﬁaﬂﬁ{ﬂywﬁ?

MA CA-MA

100 AT VA 100
@ VCAX ' (®) CA
MA —CA CA
AAEA 0o <100
(@) = @ 14

What is formula for calculating the 1Q level of students?

(@) M:XIOO ®) %E;ﬂxloo
(©) M—‘;—A@ﬁxloo (d) Cixloo
4 4 ¥ ooEradt e FH-a 27

(a) W9 aEd by fafesm <y
(¢) THmvs wrE (dy = fefa
Who is the Behaviourist Psychologist among the following?

(a) John Watson (b) William James
(¢) Sigmund Freud | (d) John Dewey

LT OA BA W U ow T (W) Oty med 3

(ay dHow Wiy (by uETas ufy
(¢) /9 Tty @) wfegTar wfu
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29,

30.

Out of these which gland is known as master gland?
(a) Pituitary gland . (b) Thyroid gland
(©) Gohads (d) Adrenal gland

e 4 9 w8 forae we § T 9fg 98 ww a@ 9 2, afew w2 faw s wen
w1 gfgal w1 e B @7

(a) .41 fered (by TTEE TMET

) = forrds | @) 9. T\

Out of the following who said that, intelligence is not a single entity, rather distinet types of intelligence
exists?

(a) J.P. Guilferd : (b) Howard Gardner

(¢) Charles Spearman (d) J.P. Dass

THELCE Ra ad w gen un

(a) 2009 | b 2005 |
© 1992 (@ 1986 H
NCF was implemented in the year

(a) 2009 (b) 2005
(©) 1992 (d) 1986
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_Question Nos. 31-34 : Read the following passages and answer the questions that follow :

SECTION-2
ENGLISH

All-round development of man is the true aim of education. It should train not only the head, but

also the hands and the heart. But our present system of education has miserably failed to achieve
this aim. It suffers from many grave defects.

The present system of education was founded by the British for their own convenience. Lord

Macaulay was the father and founder of this system. He wanted it to produce clerks to help the

British in running their administration. Today the English have gone but the same old system of

education still continues. We are free but we are still slavishly following the system evolved by the
! British. This system of education has many defects. It must be changed and overhauled.

n The greatest defect in our present system of education is that it is too theoretical. An educated
man has only bookish knowledge. He knows nothing about practical things. He finds that his
education has not made him fit to do any useful work for his society.

Vocational education is the need of the hour. We need more and more technicians, engincers and
doctors. But, the number of vocational institutions—Engineering and Medical Colleges, Polytechnics
4 and 1 TL’s—is still limited and expensive for maxinum institutions are privately owned by capitalists.

A large number of young men and women, who can do well as technicians, are deprived of

N technical or vocational knowledge.
- 31. What is the true aim of education?

“a)
(b
(©)
(d)

All-round development of man is the true aim of education
Mental advancement is the true aim of education
To earn more and more money is the aim of education

To achieve good positions in administration is the true aim of education

32. Who was the father and founder of the present system of education?

)
(b)
(©)
(d)

Lord Macaulay was the father and founder of the present system of education
Abraham Macaulay was the father and founder of the present system of education
Mahatma Gandhi was the founder and father of the present system of education

Dr. B.R. Ambedkar was the father and founder of the present system of education

Booklet Series—B (12)
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33. Why was the present system of education founded?

Ja) to produce clerks to help the British in running their administration
(b) to produce administrators
(c) to produce leaders to end up slavery

(d) to produce enginéers and doctors

34, What.is the main defect in our present system of education?
a) itis theoretical and not practical
(b) itis leading
(c) itis based onills
(d) itis purely baseless
Question Nos. 35-36 : Select the opposites of the underlined words in the given sentences :
35. He stopped in the doorway, too timid to go in.

(a) excited (b) notwilling
(c) interested (d) brave

36. The organization changed its cumbersome title to something easier to remember.
(a) bandy (b) awkward
(c) difficult (d) None of these
Question Nos. 37-38 : Select the word which means the same as the underlined word in the given

gsentences .

37. They had to abandon their lands to the invading forces.

(a) acquire (b) resign
(© toleave (d) chase

- 38, The male bird has distinct white markings on its head.
(a) characteristic (©) light
(c) ‘right ' (d) different

Question No_s. 39.43 : Read the following passage and answer the questions that follow :

It has.sometimes been said that all this quantitative expansion has been achieved at the expense
of quality. It is true that standards have fallen in several sectors and that the number of sub-
standard institutions has considerably increased. This is, to some extent, inevitable in any period
of rapid expansion, especially when, as in our case, financial investment in the system is proportionately

Booklet Series—B . (13) . P.T. O.
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39.

40.

41,

42.

43,

smaller than the growth in enrolment and there are seripus mistakes of commission and omission,
both in planning and in implementation. But even here, one should not ignore the fact that

educational standards have improved in many Sectors. The number of good institutions and of first
cate students is much larger today than it ever was. Our medical education has always maintained
very high standards which are comparable to those in advance countries and are accepted by
them as such. In the sector of science and technology, we have shown tremendous progress and
some of our institutions in this field can compare with the best anywhere. There has also been
substantial improvement in standards of teaching and research at the post graduate and university
Jevels. As the education commission observed, the overall picture in respect of the quality education
is really a mixture of light and shade.

On what ground the writer justifies ‘Substandard institutions’?
(a) they helpinthe expansion of education
(b) these can be run with a small amount of money

(¢ in the fast expansion such institutions may be set up

(d) None of these

The general picture of education is
(a) good (b)y bad
(¢) neither good nor bad (c_l) Both good and bad

The writer does not say

(a) The quality of education has fallen

(b) Our medical education is comparable td the best

(c) The standard of post graduation education has improved

@) Expansion of education has not been possible

‘The most suitable title for the passage is _
(a) Education today (b) Quality of education

(c) Aviewof education (d) Aspects of education

What is meant by quantitative expansion?
(a) Spread of education (b) Improvement of education

(c) Demands of education | @ Expansion in terms of number of institutions

Booklet Series—B (14)




Question Nos. 44-47 : Identify the appropriate alternatives from the given ones for filling in the blanks

in the given sentences :

44. 1 came across a group of people. Some of ........

.. were very smart.

(a) they o (b) them

(¢} their (d) those
45. How ......... students are in class VI?

(8) much (b) many

(c} any (d) are
46, Have you.......... problem?

(a) many (M) more

(c}, any . (d) much
47, They have been abusing each other .......... morning.

@ for (b) from

{c) since (d) with

Question Nos. 48-51 : Select the word with correct spelling for filling in the blanks in the given

sentences :

48. Smiley can speak English well even though it is not her ..........

(a) mother tonge (b)

(¢) mother tounge . (d)
49. Heisa ..........

() Deputy Commissioner (b)

(c) Deputy Commisssioner @

50. She is Pawan’s .......... _
(a) mother-in-low ®
{¢) mather-in-la ‘ (3)]

51. One should always respect ..........
(2) one’s neighbours (b)
(c) one’s nieghbour (d)

Booklet Series-B (15)
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Deputy Commisioner

Dupty Commissioner

mother-in-law

mother in low
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Question Nos. 52-55: Each of the following sentences are divided into four parts marked as (a), (b):
(c), (d). One of the parts has an error in it. Identify and mark its part as directed in the Answer-
sheet : :

52. She did not went / out / for a morning walk / today.

(a) (b (c) @
53, Sham have been / playing / guitar / since Monday.
() ® (© (d)
54. Poors are / always / exploited / in this world.
(a) (b) © @

55. 1/ always give / an one-rupee coin / to my daughter.
@ ® © @

Question Nos. 56-60 : Read the following passage and answer the questions that follow :

Today, one woman dies in childbirth every five minutes. This is a very high number by global
standards : one-fifth of all maternal and child deaths during childbirth in the world occur in our
country. The high incidence of child marriage has a lot to do with this because maternal mortality
is five times higher for girls under fifteen. Poor access t0 health-care is another reason; less than

half of births in the country are supervised by health care professionals.

Indian women are last to eat in their homes and often unlikely to eat well or rest during pregnancy.
Almost 60% of pregnant women are anaemic. 111-health during pregnancy is compounded by
illiteracy and ignorance, because a large percentage of pregnant women are extremely young
teenagers. As a result, they give birth to low-weight babies and tend not to know how to feed
them.

Almost half (48%) of our children under age five are stunted, an indicator of chronic malnutrition,
and 70% of children under age five are anaemic. Malnutrition makes children more prone 10 illness
and stunts their pbysical and intellectual growth for a lifetime. If this child is a girl, she has the
worst of it, because there is gender bias in feeding practices. Infant boys are fed more often and
for longer periods of time. Medical attention, even basic preventative care like vaccinations, is
often withheld from girls.

56. How many women die in childbirth every five minutes?

(@) 26% women die in childbirth every five minutes
(b)y One woman dies in childbirth every five minutes
() One hundred and sixteen women die in childbirth every five minutes

(d) No woman dies in childbirth every five minutes '
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. Why are Indian women often the last to eat in their homes?

(a) due to they cook the food for others
(b) because they are not treated equal to man in patriarchal society
(¢) because they are not greedy

{d) because they are not so hungry

58. What is responsible for ill-health during pregnancy?
(@ Iliteracy and ignornance (b) Poverty and unemployment
(¢} Innocence and carelessness (d) Poor services of health department
59. How is malnutrition harmful to children?
(3) It makes children weak and ugly
(b) It makes children mentally poor
(¢) It blocks physical growth
(d) It makes children more prone to illness and weakens their physical and mental growth for
T alifetime
60. Give a suitable title to the above passages.
[(a) Woman :Ill-health = (b) Ignorance and Illiteracy
() Innocence and Poverty (d) Indian Women v/s Health Department
Booklet Series-B _ . (17) P.T. O.




SECTION-3
HINDI -

WP WG 61-63 : TrEAfafEd wEie # Wed oFd W U MU oy & IW W

- @ SR § S w O wee T o iR T e % wif wd-as,
TR G T A G vEE W § wa o T srdt suel 89 Sl weed Ssew
St W ofa: wftd @6 oh wafm ® e off Fem o @R ow el oweR ®
wde w1 giae el e, fRe 39 e ok FREw B gu st wre wee we e,

AT T w9, sfER-wdel § g e o sl fe @ R ¥ we

ot - s AR B eTavEEdet ® UR @ R gue @R e W sy SR
fomm gam o SevEl w fofg o sravamwet # gfd & fag A A et %19
ol & T wER F SRR T R AR g w1 AfER we w ] fRar
wfw ® wggel e ¥ wEE B 9 @ FeE w1 owen @ e wee §
v TR o fiers g 2 gES Yoy ¥ o el @ @ s @
fromf w1 e, fawfaa fear i gomafem fean s

61, TErE ¥ t@ifRd T @ WA W w=fm § §
(@ = e srwn w7
() Toes =oER ®W AW T 7

(o S I WEm R TE ®
(d)»Gﬁﬁ'{WHQE['ﬁIFWﬁ

62. agsanm'ﬁaﬁm%
@) wEA g i fram & e R wE
,(b) afR g e Wgget fawm ® fag awe e ammfew feel o e
© T W TRE w1 g w9 ¥ Frw fawd el gee o g
@ Wi T s @ omE wowew w9 ¥ e
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63.

64.

65.

66.

67.

68.

(3 WEYEYE ) frm
(c) TH=EEIYE : (dj Tregfeanys
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T RN w FEifE Suged e @ wwar @
(&) SR s

- (b) ITAEA &I FHeTAl

¢ Togst @t soar d9
(d) IMEvIFRa afgwRR # ST 8

e TR H G Fd wH-w 2

(@) SafEw () =afsaF

(© SrE @ YR
= g 9l § ¥ wR-w 9 wattus w5 2

(@ TR dEraadt w=0 w1 faEw e ow @ @
-(b) TR WIS w1 F FEE e oW owr @

(© T Turaedt = w1 faae g o owr @

() M AgSdt w0 w1 foaw TR oW o @

WA T W FE A Y e owwe W faie e @

(@) WU EwRE ',(b)ammw

(c) ST HREH | d) w4 FR*
M W SHRE F R W AW fid # fRW YR w1 v feen
(@ SEAT T ®) wHE W | -‘
(c) T ww | @ PR =

IR S ® I AHEE 2

SWF T § T@ifed W S ®oghe ¥ @ 82




70

71

72

73.

74.

.

. ‘e’ W wfufesst Bia 8

(@) S+EHHA | (b fa+amRe

(€) SA+3MHA (@) faan+sTRS

frefafes §  SF-w o9 T$ 87

@ s A ¥hER @ f&y ) T 7 zfrEr dw f&u
L e % s ' Ry (@ v A FRER dg K
4 ford a9m § @Rt w@E ¥ BA-w T Sgm?
%ﬁgﬁmﬁmﬁ#ﬂm ““““ 78 AT fig W e @
(@ eifa ‘(b)) T

(c) Tf® (@

St Qe oot ais et s )

s A ¥ leited WK W fawa oY 3 9 aed wE-w 22
(;)ﬁmﬁmﬁ%ﬁafwﬂ%
-.@)ﬁmﬂwmﬁ:ﬁﬁwﬁé

© o w9 ww wetew e sy €

@ #f @ o e sl arfaw €

frofafen § ¥ wiawvo fFE W= § ?2
@ T (b) 3=

» () afd T | @ WE

g TR @ fau SUgw WEEEE 6 R
(@) TIWH . ® =4
© s @) FRWE
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75.

&=t avimren & Ui &1 yoW, g 9 UEH SR @9 H AUE B OAMK WO
wEd 87

w{a) SATIHT ' (b) HETHTW

() =9 ) oTEY

WG‘@T%-SO:W@HWHﬁW'WﬁﬁQWW@WW:

76.

77.

78.

79.

T 3T N A F S wed 9 59 W@ W foun fear @ T o, Agai sl wgem
H W o W wW F AW A TE I e 5 I R, T € R W Se-wEER
AR T-deR g= B ? iR W v o W @ YEe w6 @ i <, omd
AR sa i geed st ¥, fee o W g STeR €, s fau w5 e
N U WA wde wE 87 Wi WEdl 33, e e, M %4 R s wgemn
H T F TR B SN, F9H H AR ¥ GH A §ER F W9 wEenst ok Wy
Yokl H T FIfd Bl We; Wy W4 R 9% gd GHRO T8 ol 3@ od @ IeH
FE TEER F U W HWeW & THE 2

wmﬁﬁﬂaﬁﬁmmﬁ%m‘wm'aﬁmwﬁ?

(@ WA R W # () =gt w=

(c) WIGHTH i @ 3w =

frus IR H Toe wW TR B 27

@ o = Mg o ® wgfy # e §
(c) WM H g ® @) fFdE =1 &Y
‘TEER W UR W uer’ w1 oad 2

(a) ST HTH b uiwa s@

© & ¥ W ' (d) @I HE
STF T W SUgE vidw @

@ e () TR dhem

) "W F ITHER © (@ e, W sk Amgyfa
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L.

AT W

so.mmﬁw‘m'm‘ﬁ'WWWw%
@ T, SuHf b Trema, sl
© pfd, st d) TR, fau=

gL ‘s WK w wEEE ®E-W R0

(@ (b) fewm

(¢) ¥ @ FEoR T
g2. ‘@ Wel @ W wen' wem @ ad TH W WA-W w7

(@ U =1 A HUR TS @qzaw&a‘fmm'
@ ¥ W omm @t A s (@ WER gU @ H e

g3, d frg el ¥ Q e o o faow fal @ wEm W@ 22
@ “gueR A Y we g gd, T A # gR e g
) goEs 9, 3 wE g q9 e W, A gR e g
(o) qAEE @ % e, g oM own @, # IR el g
@ gwmam#mgrr@qaﬁ“ﬁ' TR e gm

g4 Pretafed § wWEEEE W@ RA-ER R2

@ =& o)y femmer
© +e (@ T
gs. frm w= § sual W& 2
(@ o - (b * o
(¢ visR (@) erufifem
g6. Fpu W= ¥ WA @m gI 22, |
(@) s | RORSLE
(c) SAHTEA ' (d) wAfawt
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87

88,

&9.

90.

T Y= W s uREE s S

@ @ (b)) T

() faeiom | d) =g
frafafas & ¥ s-m o= e 22

(@ iR _ Gy =

© (@ @R

TS H ARE GU-d wfem'—uie § sweieR

(@) T ® S

(c) wohifeR @) fadife
‘A o e g v o T @ wew el 22
@ Is #R TR ® T ¥R TF
© eifys sk =g d) ®H 3R R
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91.

92.

93.

94.

95.

SECTION-4
MATHEMATICS

@mﬁtﬂam,snﬁaiﬁgram4ﬁam%luﬁw$ﬁﬁaﬁﬂmﬂ
ﬁSOW%ﬂ%Wﬁwm,aﬁmmaﬁw@mﬁm?

(@) 176 in () 88 H. @© 170 9. (d) 80 .

The length of a room is 6 meter, width is 5 meter and height is 4 meter. If the walls of the room
are covered by a paper which is 50 cm. broad, then what will be the length of the paper?

@ 176 m ®) 88m © 170m @ 80m
ofx fosra Oed = T 84, % AT £ 20%, T HI T =7
(@) T60 ® 265 . A T @ XS

If SP = T 84, % gain = 20%, then CP = ?

@ T 60 ®) 265 © 70 @ 275
ﬁ@mwmmwwﬁwﬁ,ﬁwwﬁmw@
(@) 60° b)) 90° © 180° @ 45°

If one angle is equal to its supplement angle, then what is the measure of that angle?
@ 60° ) 90° ) 180° d 45°

59 W & 80% ¥ Ewn, fEe 200%, 90 2?

(a) 144 (b) 72 + (c) 36 (d 54

What will be 80% of a number, whose 200% is 907 .

(2) 144 ®) 72 ) 36 () s4

13 & 16 @ uEA. IR @Ea w PEEE ¥

(@ 2 (b) 48 (c) 144 - {d) 288

“The product of H.C.F. and L.C.M. of 18 and 16 is.

(@ 2 . (b) 48 - © 144 (d) 288

Booklet Series—-B (24)




96. WSt (6, -6), (3, -7) @ (3, 3) T fo w1 d%a T

(@ 54 I T (b) 24 = THE
© 15 = =R @ 56 a1 T@E
The area of triangle having vertices (6, -6), (3, —7) and (3, 3) is
(@) 54 sq. unit : (b) 24 sq. unit
.(© 15 sq. unit (d) 56 sq. unit
97. frefafen ¥ @ A @ den g g ©?
@ 6 ® 2 © 4 @ 10
Which of the following is a prime number?
(@) 6 b) 2 . (c) 4 - (@ 10
08. 15 19 %ﬁuﬁﬁwaﬁaaﬁﬁuﬁ i0:11 ﬁwmz?
@ 20 ®) 22 © 17 (d 25
What should be added to 15 : 19 to make it 10 : 117
@ 20 (b) 22 © 17 -(d) 25

99. TF TOw ¥ WEE TH B AU 40% F H EvaSA B Uw udenef d 120 w
W fFu ot 80 @l Q IWEH B TN SRy T H/A R w w1 wder o
@) 415 () 435 € 520 .(d) 500

In an examination 40% marks are needed to pass. An examinee got 120 marks and failed by 80
marks. Calculate the total marks of the examination?

(@) 415 (by 435 (c) 520 | (d) 500 °

100.%%@@@#600faa%aamﬁ7%mﬂmééiwﬁ3é'am?l,ﬁoo wfd
fydem faen @1, @ U @ dW el faww TEa F HINY

@ ®A @9 T 65225 ®) F|A AH T 65203,
faq, %10,27,300 fa.q, 7 10,30,200
(© WA A T 67,200 (d HA OH T 67,225
a9, T 10,27,200 fa.q. ¥ 10,15,300
Booklet Series—B (25)  PTO




101.

102.

103,

A grain merchant sold 600 quintal rice by getting 7% profit. If he got rice T 1,600 per quintal, then

calculate Total Profit (T.P)) and Selling Price (S.P)
(@ TP 65225 (b) TP. % 65,203,
S.P. ¥10,27,300 S.P. ¥ 10,30,200
¢y TP X 67,.200 (d) TP.T 67,225
- S.P. ¥ 10,27,200 ' S.P. T 10,15,300

ﬁmﬁmmﬁmaﬁaﬁ(maﬁﬁﬁ@m@mwsoaﬂis%%lamﬁaﬁ
H@rﬁ%ﬁﬁﬂ@@mwmﬁaﬁﬁm
(@ 4:7 ) 4:6 »(c) 5:6 d 4:8

In a School the strength of boys and girls is 480 and 576 respectively. Calculate the ratio of the
boys and girls in simplified way: :

(@ 4:7 b) 4:6 c) 5:6 (dy 4:8

@Wﬁaﬂﬁ@ﬁﬁﬁﬁéﬁmw%mﬁ@aﬁwa@aﬁmﬁ?ﬁéﬁ
fF 39 8% aw = '

@ T11.20 (b) T9.30 © %1080 °  (d) T14.60

By selling an article for ¥ 9 a man lost 10%. For how much should it be sold to gain 8%?
(@ T 11.20 b T 930 (c) T 10.80 @ T 14.60

WU ® q TH aF 4%@%@1'%?
(@) 2.19 (b) 2.16 © 217 d 2.15

2 .
What will be square root of 4'5 correct up to two places of decimal?

(@ 2.19 ® 2.16 ¢y 217 @ 215

104, 16%% # W (= oF) $ifvg

QO =

' 1
@ 3 ® 3 © = @

Fd
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2 .
Convert 16-3; % into a simple fraction

@ 3

G|

® 3 ® 3 ©
105.aa@13ﬁwﬁ3184%|m@ﬂ@1%r lﬁm@ﬁa@%%ﬁﬁm@

3
‘sﬁwﬁ'm%,?ﬁwmaﬁﬁﬂﬁq

(@ 92 (b) 84 Q 72 @ 76
The sum of two numbers is 184. If one-third of one exceeds one-seventh of the other by 8, find the
smaller number

(a) 92 b) 84 ) 72 d 76

106.af% &g 2 = 03010 1 @Y 3 =04771 &, @ @Y 6 H HA TN

(a) 0.8177 ( 0.7781 (c) 0.6781 (d 0.7681
If log 2 = 0.3010 and log 3 = 0.4771, then the value of log 6 is
(a) 0.8177 (b) 0.7781 (c) 0.6781 (d) 0.7681

107. 9 i Tl @ dEwmel ¥ 24 H SRR B AW TH WG 102 F, @ TR 9L we
s W@ e

(@ 60 (b) 61 (e) 62 (dy 63
The difference of two numbers of two digits is 24, while the sum of these numbers is 102. What is
the largest number? : )
(a) 60 ®) 61 (c) 62 (d) 63

108. TF ®X 300 Rl &Y 30 W@ w® A 5 uo gHG o ¢ TW WE (5 W) ®
%"&" 9§ EEE (306 frd) T w0 ® fag =) W T w® (FEAD) A =
B wfew?

@ 75 . |1 eme | . () 71 fRHLAT
(© 70 .= Co (d) 72 f.t e

‘Booklet Series—B : (27) ‘ P T O."
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A car takes 5 hours to cover a distance of 300 km. How much should the speed in km/hr be

maintained to cover the same distance in 5 th of previous time?

@ 75km/h ®) 71 km/h

() 70km/h ) 72km/h

109. Felm B § x ®1 UE w2

(5.1) 60° () 75° (c) 80° d) 85°

The value of ‘x’ in following figure :

| (@ 60° ) 75° © 80° d 85°

i
110.479 & I8 3 § ¥4 fru W fra wwd 82
(@ CD () CCCXLVI (¢), CDLXXIX d) CDIXX
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Roman numerals for 479 is

(& CD (b) CCCXLVI (¢) CDLXXIX (d CDIXX

111.37R TF T & F 175616 =@ /AL B, @ IWH 0 W o=@ e
B?

(@ 51 |4 () 53 |.H. © 56 Q. (@ 57 Q..
If the volume of the cube is 175616 cubic c.m., then its edge will be

(@ S5lem (b) 53 cm (c) 56 cm (d) 57 ecm

112. 83 16" 492 ?

(& 3 ® 5 () 8 @ 16
823 164 4+ 92 is equal to |
(@ 3 ®) 5 ) 8 d 16

-113.%&?mmzaﬁ%ﬁqw@muoso%sﬁrmmmﬂﬂo%lw
TR ISy

@@ T 400 by T 450 © ¥ 500 @ T 550
The.compound interest on a certain sum for 2 years is T 40.80 and the simple interest is T 40, Find
the sum
(@ T 400 (b) T 450 ¢y T 500 (d)y T 550

114.%F Ry mu fag ¥ g fead o9 ofie w1 9 &2
@ 2 (b) 10 | © e @ 1

How many circles can be drawn passing through one given point?
(a) 2 (b) 10 (c) infinite @ 1

115.9€ HIO S 180° | 9T W 360° ¥ o € ¢, weaar €

(8 T& =T H/o (b & Mfaw Hio
€) T Y&F ®H (d) TF FEQ W
Booklet Series—B o | (29) : : PTO.
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An angle which is greater than 180° but less than 360° is called

(2) An acute angle (b) An obtuse angle

(¢) A complementary angle (d) Areflex angle
11697 A:B=8:15B:C=5:8C:D=4:5 & A:D=?
@ 2:7 () 4:15 € 15:4 d 8:15

IfA:B=8:IS,B:C=57:8,C:D=4:5,thenA:D=?

@ 2:7 ®) 4:15 © 15:4 ) 8:15
x? -1
117. 4fg =8 %, o x=7?
x+1
@ 8 ®» 9 © 3 @ 4
2
X128 findx
x+1
(a)8‘.‘(\|.3)9 © 3 | @ 4

. 118.3 3cos0—4sin0=2cosB+sin® ¥, T tan@F T BT

2 3 . I S
(@ r (b) 5 (c) 5 . (d) - .
If 3cos0—4sin6=2cosd+sinb, then tan®=2?

2 T | L
(a) s (b 5 (<) S (d) 7

119.20 =i 4 w2 ¥ 30 U5 ¥ T ¥ AR 4 Afw FH SR T W, W@ 6
o ¥ e Y wR W, S

@ 32 L m) 38 (o 34 @ 36
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20 men can cut 30 trees in 4 hours. If 4 men left the work, then how many trees can be cut in

6 hours?

(a) 32

(by 38 -

() 34

d 36

120. Fr=fafed w9 § ©F & o B, 39 WEW &l A Hie:

202

@ 55

102

55

(b) 202

36.5

€ 36.5

34.25

42,125

(d 357.625

57.625

In the following number series, only one number is wrong. Find out the wrong number

202
() S5

3:.

Booklet Series-B

102

iy

55
(b) 202

36.5
© 36.5

(31)

34.25

42.125
(d) 57.625

57.625
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SECTION-5

EVS
(SOCIAL SCIENCE)

121 96T # @y feg ¥

(@ & wr o (b) UF SERHE o
© f&= memrm 9 @) I Fw @t §
Lakshadweep Islands are situated in |
(a) Arabian Sea | (b) Palk Strait
(c} Indian Ocean (d) Bay of Bengal
122 el T v A @l ok R W oermmm wm 2 |
@ 3:2 M) 4:3 © 2:1 @ 5:4
What is the ratio of length and width of National Flag of Indja?
@ 3:2 ®) 4:3 © 2:1 d 5:4
123. 9ot ot g w g @
@ @ ¥ wfem # ek © R & g e
(c)mﬁ_m“mﬁaﬁt @ 3/ F TR F ek
The Earth rotates on its axis from
(a) East to West | _ -(b) West to East.
(¢) North to South (d) South to North
124. 9= wgEm fiffa ofi frg 2
@ FHRE ®) 7EER. (o frms (&) wrem

There is an ancient ‘Rock temple’ at

(@) Hamirpur (b) Masrur (¢) Nirmand (d) Kaza
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125. 39T & 9HY & g Afvem fem g o 97

@ WF @) el © @ g

In the era of Ashok the _fecords were kept in which of the following languages?

(a) Prakrit (b) Pali (¢) Kharosthi (d) Sanskrit
"126. WA TTA ® TR B WOAE O 2

(a) 95.6°F (bj 99.2°F (g 984°F - (d) 100°F

The Body temperature of a normal human being is

(@) 95.6° F | ) 99.2°F () 984°F (d) 100° F,
127. 97 ¥ weel W wRA fRFm ad yE g?

(a) 1853 (b) 1870 (c) 1875 (d) 1862

In whicﬁ year was the first rail line opened in India?

(a) 1853 (b) 1870 (c) 1875 (d) 1862
128. 5@ femrae W T goN 9@ VRA F

(a) 23da T (b) 18af A

| © I - @ 249 T4
1 When Himachal Pradesh was formed, it became |
| (a) 23rd State of India (b) 18th State of India
| (c) 8th State of India _ (d) 24th State of India
129. =t Freramr w1 wefiw siv@ @ @2

(@) i ® "W

®) el w R s

€ " % sfawrl @t B s
ﬁ (@) T weald =1 G@W HEN A GET YSH HAT
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What is the primary objective of Judicial control?
‘(a) To punish the criminals
(b) To resolve disputes
() To protect Citizen’s right
(d) To safeguard private property
130. 7R ©F AAfeA e W wa R, @ =fwor few geiem

@ wEfes w1 Sqd W . (b) mAfET w1 fraer wm
(c)mm'aﬁﬁm (d)aqu%arq"auaﬁm
If a map is in front of you, the South direction is shown

(a) at the top of the map (b) at the bottom of the map
{(¢) towards your right hand (d) towards your left hand

1339 = 9 seew @
(@ W (Y& &=t & 9 sn 9w W)
(b) - FEATTA R
(© | A T =W
d)
Igloos are the example of
(a), Houses in polar region (b) Sky Scrappers
(© B'oaf Houses ' (d) Tents

132. 99 o9 W7 GXU9E TS OHH 9

(@ wHvR g (1;) T T
) wfEar qd= @ e
The founder king of Chamba State was

(@) Champeshwar Singh (b) Meru Varman
(¢) Sahil Varman (d) Satvahan
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133. femreer wew A e g AR wwd @7

(@ T @) T © & W=
How many main rivers flow through Himachal Pradesh? . ' ﬁ
(@ One ‘(®) Three © Six @ Five
134. STHEAN T e & fHar?
(@ weTen - S () AR AEe
© T MM foasw ‘ (@ sf=u |
Who started the I:Ion-cooperation movement? d
(a) Mahatma Gandhi (b) Jawahar Lal Nehru
(c) Bal Gangadhar Tilak (@) Indira Gandhi

135. %R @ ger v fage e foew Re § w6 9 T ¥ oww @ ¥

@ oW weEr ® @ W

(@ ¥ fage dfem @ v R W

Which major hydel project in Himachai Pradesh is being run in collaboration with Russia? -
(8 Nathpa Jhakri | (b) Kol Dam

(c) Sanjay Vidyﬁt Project (d) None of these

Booklet Series—B ‘ (35) - " PTO.




EVS
(SCIENCE) .

136. otelifir Wi oo ofiePR @ F T2

137.

138.

(@) W9 IS (b) ZEHHA (c) <eifas (d) TIE /N

Industrial revolution began with the invention of

(a) Steam Engine  (b) Telephone (c) Television (d) Aeroplane
Foen, TEiE 9 U Wl F ween 27 |
(@) Siersy A (b) WU bR TR

(c) el T @ Sfaw uw

Coal, Natural gas and Petroleum are termed as

(a) Fossil fuel (b) Pollutants

(¢) Black gold : (d) Biofuels

W AEH SEFE VR & EW @, 399 Ka W ¥ged 9g S ¥, W §g S
% I g9E VR @A W EEE ed €7 |
(ay eI ) SR () T (d) eI

A man suddenly sees a tiger, his heart beat goes up, blood pressure increases, which hormone is
released at this time?

(a) Adrenaline (b) Oxytocin (c) Insuline (d) Glucagon

139, TeAfy oM fRe WA W eRW HW 87

140.

(o) SRS ®) =T
(c) TR STEIAFAIES d Co,
Supersonic Jets causes the depletion of layer

(@) Oxygen (b) Ozone
{(¢) Sulphur dioxide (d CO,

frefafea W forar #fIC (1) s, (2) T, (3) €O,
dr H o W ® fu ISR ¥ ¥ wF WA Wl 2R
@ 1 3R 2 by 2 3 3 © 1 3R 3 (@ 1,2 K3

-
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141.

142.

= 143,

144,

Consider the following: (1) Oxygen, (2) Moisture, (3) Carbon dioxide.
Which among above is/are needed for Iron to get rusted?

(@) 1and?2 (b) 2 and 3 (¢) 1and3 (d) 1,2 and 3

HE B TR ww Q offa e W w2

(a) A (b) 3 ) aa Wa () RS
Glass isrbest described as a

(@) Liquid  (b) Solid

() Supercooled liquid (d) Colloid

Her el g g9 wweafs | fear g o ' EGI

@ S (b) wREEW ) Y™ @ HHE

The product formed by the action of microbes on the dead plant-part is
(a) Sand (b) Coal (¢} Humus (d)y Mushroom

B W O W F wE B faw seRe aE 2
(@) et (b) el SHE

(@ W F T B TR W () o ghe 3 D
' - ! R
Which factor is not responsible for deficiency of water? 3 >
i 1] r—
(a) Industrialization (b) Increasing Population }

(c) Bad management of Water resources (c}_) Excess Rainfall

mﬁﬁﬁqmmﬁqﬁﬁmﬁwm;ﬁm%]
@ M wifeefo @ ) TR TRl @
© W % W wifefm 99 - (@) we oRfefE o

Which one of the following Ecosystems covers the largest area of the Earth’s surface? .

(a) Desert Ecosystem (b). Marine Ecosystem
{¢) Grassland Ecosystem (d) Mountain Ecosystem
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(@) T ®) wRH © TEE (@ wRm
Milk Sugar is - '
(a) Sucrose (b) Fructose () Glucose (d) ° Lactose
148.fm ¥ @ wrfafre foe @ o=y w@a
@ 54 [ORG © T @ ®
‘Dialysis is associated with ' i ' -
(a) Liver .(b) Spleen () Kidney (d) Stomach
149. Twa 8 wed &2
(@) () H-TFH () THH @ feweeem
Cyclones are called :
(2) Tounami (b) Hurricanes (c) FEarthquake (d) Avalanche
150 VRA 1 THAH 4 W BW Y www - |
(@ fer T  ® . |
(c) STH-FTHR (@ fowwm- - |
The only State which produces Saffron in India is
(a) Himachal Pradesh () Meghalaya
(©) Jammu & Kashmir (@ Sikkim
Booklet Series-B (38) ' _ ' o

145. freafafen & & wH @ woe wlw mg ¥ I W 87

(@) WA (b) Freret (c) el () T
- Which of the following Crops is of Kharif season?
(a) Soyabean (b) Linseed (c) Mustard (d) Lenlil

146.%%%3@1%11@#@&%?

() IR ® FTEHR (o wwEfw (d) TTEgHE
Humidity is measured by which of the following instruments?
(@ Barometer (b) Hygrometer (© Thermometer (d) Hydrometer

147.39 ¥ W M a9 s 22 | 7 |
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